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It is a dispute of o°Xin, Machshir was said, etc.; so too the Machshir
which was said on the outside he made the Machshir like the Mcha’pare

Overview'

The Xynw> ' 027 Rin derives the 7RI MOR by ¥yN¥n 0% (which is a won) from
791 93y (which is a 19on). Our MdOIN reconciles our X3 with a seemingly
contradictory X na.

= N9Y9Y NDHY 999139 YINN Y9I9K 13991 9PYIN 2D9VPa YD
>'"w9 explained that 9sw>» (making fit) refers to the y91%% >119°% (it makes the

yxn fit to enter into the amn), and =92% (forgiving) refers to the m91w aA2ay (it
forgives for the sin in regards to the unsolved murder).

mooin asks:
= N19Y9Y NYIYN ANINA DIIIDNT DINDY 1329957 ¥YIWN NOINT NN

It is astounding! For here it seems that we derive that y71%» 5198 are 270K

7R372 from 7791 798 -
= 30195810 NOYIY NDHIY 1229957 YNIYN (x,n3 91 NHN>I52)

However, in mnsa> noon it seems that we derive the 7RI MO°K by 791w 25w
from y7x¥n v199x%?!

N1D0IN answers:
- 19YIY NIV DINDY 991 T8 NIPIYNRT 1Y U

And one can say that initially it is necessary to derive 7X17 70°X by 2'm9%

from ;7919 1193¥ in the following manner -
= 4199y NYWN NINSN H3Y NON NI NIV NNT

For just as ¥"'¥ is X172 770K at least from the time of 71297y -
= 512 7997 90OX HINSN D35 NIION HNIIUNT NI 9N

!'See »119% "7 >"wA and the following four "7 for a complete explanation of this AwA17.

2 See footnote # 1. See ‘Thinking it over’.

3 The X7m3 there states that X113277 27 (who maintains that the ¥"v is 0»nn 770K) agrees with the >3 27 Xin that we
compare won and 191, that just like the 2°won (the n"X) are o> nn O*MOK, so too the 7971 (the ¥'"v) is 01 TMOK.

4 See the first '0I1n on this 7192 7"7 7Y, that we derive from aw 1071 the X837 MOX by 791w 723w after it was 77w

5 Both yxn »19°% are derived from 1917y 723w, We certainly derive that the mmnw is X372 770K after moenw, just as
the ¥"v is 770K after the 191y, We also derive that the nn21wn is X172 710X, however how are we to interpret that
comparison. MoYIN reasons that it must be while she is still alive, before she is sent away, for once she is set away
we know that she is N1 even 72982 (see the Xn3).
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So too the ‘sent away’ bird (the nm»w») is 78172 770K at least for any 210N

which is applicable to it -
- SARYHIVIY DNP 09NN THI3 Y 1M

And perforce that X371 0K by the ni?wn is while it is alive before it was sent

away, for after it is sent away it is NN even 77°X2 -
- HN2IYNI DNN DTN INIYUNRT 112)

And since we find an 7X3;7 999°K by the nr>wn when it is alive, as just mentioned -
- PRIYND MO8 DN NIONIT NDNIY NYIY BN P9 999V )3 BN

Therefore we can correctly derive, there in N1n°7> noon, that ¥"'y is 2% 770K

from the nr>12%m 298 (which is o»nn 7M0K) -
:N9YIY 799 NNYPY NYWM 135907 DONN AN NIONIT AVINYN NN 139955 19 9NN)

And afterwards, once we know that ¥"V is 011 770K, we can derive that the
VIR DX is MR even 2911, meaning 7P nywn, from ¥''Y.

Summary
We derive 0»nn M0°R by the nnown (after nvnw) from ¥"y. We derive 0°°nn M0°KR

by ¥"v the nrwWwn, we derive nmoph nywn MOX by »"¢ from ¥"v.

Thinking it over
1. Why was it necessary for '01n to first introduce® >"w7p before he asked his
question?!

2. According to the first answer in 77792 771"7 '01n that we derive the 0 nn X7 0K
by an ¥"v from 71793, how are we to understand the X723 in nIn™>, which derives
the 7817 MO°X by ¥"¥ from y1¥n 932!

¢ See the 0"~ who explains that N0 does not mean (at this point) that we derive the Amp? nyw» ROINWA NO°R
from v"y for how can we derive an 190°X which is 0>nn, from 3"y where the M0k (at this point) is only known 9nx?
ann (after the n19>w). Rather at this point we derive that the nn2wn is 770X from the same time that the qonw is
7oK, namely after the nunw (where the mnw is dead, but the nn>wn is alive) but before the m?*w. Once we see
that there can be an 2>nn MR (by the N Wwn), we can derive that by ¥"v there can also be an 2»nn MoK from the
time of 723w N7,

7 See footnote # 6 that we cannot derive an 2>m» ME°X from an MR of 71N KXY, so since the NAYWN is 2> 770K
only after the v’ nw, we cannot derive that the 70w should be a»nn 770Xl However once we derived that the 3"V is
o°°nn 0K we can then derive that the quInwn 9% (as well as the ni>wn) are also °P% nywn o»nn PoR. This
explains why mooin derives 0»nn MOR by the nvInw from ¥"v, but not from the n21wn. [It seems from this 'oin as
well as nywn 7"7 '01n that the two ¥yMx» *M9°X are considered one entity, so that the 710°X of the 7vIMY ‘expands and
extends’ into the nwn.]

8 See footnote # 2.

? See mwn N7
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